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RS Aggarwal Solutions Class 8 Mathematics
Exponents Exercise 2A
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Q5

Answer:

{(;) 3—(%) 3}+(§) 3={33—23}+43={27—8}+64=g
Q6

Answer :
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Answer :

() () () (@) @) (1) e arosis

Q9

Answer :
Consider the left side:
OO O O
3 3 3 3
Given:
5 9 (s 3z
3 — A3
Comparing the powers:
—O=3z=xr=-3

Q10

Answer :

Given:

OO0
SORSORION

= 2r—1=-3
2r=-34+1=-2
=r=-1

Q11

Answer:

Let the required number be x.
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Answer:

Let the number be .
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Q13

Answer:

Given:

52+ = 95 — 195

We know:

25 =5x5=5

126 =5x5x5=F5

. =R 3 el(2zia)-2] _ g3

ar 5“2:{1} 'El = 5[22 1[ - 53

=2 —-1=3
2r=3+1=4
$=%=2
=
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Exponents Exercise 2B

Q1

Answer:

(i) 57.36 = 5.736 x 10

(iiy 3500000 = 3.5 x 10°

(iii) 273000 = 2.73 x 10°

(iv) 168000000 — 1.68 x 10°

(v) 4630000000000 = 4. 63 x 10'2
(vi) 345 x 10° = 3.45 x 107

Q2

Answer:

(13.74 x 10° = 3% » 105 — % — 374 x 106-2) — 374 x 10° — 374000

(i) 6.912 x 105 = $212 » 10° — % — 6012 x 103 — 6912 x 10° = 691200000

(i) 4.1253 x 107 = 4228 107 — ABBA0T _ 41953 x 109 — 41953 x 10% — 41253000
(v) 2.5 x 10* = 2 x 10% = 210 _ 95 x 101+ 1) — 25 x 10° = 25000

(v)5.17 x 10° = 31T 5 10° — % — 517 x 1002 — 517 x 10* = 5170000

(vi) 1.670 x 10° = 1678, 107 — %ﬂﬁ?“” — 1679 x 10(9-3) — 1670 x 10% — 1679000000

Q3

Answer:

(i) The height of the Mount Everest is 8848 m.

In standard form, we have:

8848 — 8.848 x 1000 m = 8.848 x 10°m.

(i) The speed of light is 300000000 m/s.

In standard form, we have:

300000000 = 3 x 100000000 m/s = 3 x 10° m/s

(i) The Sun—Earth distance is 149600000000 m.

In standard form, we have:

149600000000 = 1496 x 100000000 = 1.496 x 1000 x 100000000 = 1.496 x 10° x 10 =1
.496 x 10" m

Q4
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Answer:

Mass of the Earth = 5.97 x 10** kg
Now, 5.07 x 10% = 5.7 x 10042 — 5,07 x 102 x 102 — 507 x 102
So, the mass of the Earth can also be written as 597 x 1022 kg

Mass of the Moon = 7.35 x 102 kg
Sum of the masses of the Earth and the Moon:

- (597 x 1022) + (7.35 x 1022) — (507 + 7.35) x 102 = 604.35 x 102 kg

— 6.0435 x 100 x 1022 = 6.0435 x 102 x 102 — 6.0435 x 10(2+22) — 6.0435 x 102! kg

Q5

Answer:

. _ 6 _ 4
(1)0.0006 = & — 6 x 10

(i) 0.00000083 = £ — 2310 _g 3 10(t-8) — 8.3 %1077

(ii) 0.0000000534 = 524 — 5-314;;;”’ —5.34% 10219 _5 34108

(v) 0.0027 = Z = 220 _ 9 7 x 1004 —9. 7% 1073

(v) 0.00000165 = % = %;‘;“* = 1.65 x 1028 = 1.65x108
(vi) 0.00000000689 = % = ﬁ-“fﬂ’f}”ﬁ = 6.89 x 1021= 6 89x10°
Q6

Answer :

(i) 1 micron = W m=1x10°m

(i) 0.0000004 m — - m — (4 x 10 ?) m
10

(iiiy Thickness of paper = 0.03 mm = % mm = (3x 10 2) mm

Q7

Answer :

[ 5_200 L _ 2060 200 _ 206 __ 200 _

2.06x10° =55 X == = === = —o) o Tomom = 0.0000206

. T_ 5 5

(i) 5x 107" = = = ey = 0.0000005

6_ 682 ., 1 _ _ 682 _ _@G82 _ 682 _ _ 682 _

(i) 6.82 x 10" = 7= x T~ WaF g 10 TH00000 = 0.00000682

. 4 _ 5673 ., 1 _ 5678 _ 5673 _ 5673 _ _ 5673  _

(v)5.673 x 107" = 0= 0TI ) 10 To000000 0.0005673
?_ 18, 1L _ _18 18 18 _ 18

WML.8x10" =4 x o A v R =0.018

. 3_ 4120 1 _ 4120 4120 _ 4120 _ _4139 _
(vi)4.120 x 107 = = x = T = _m'["’} = =F = Tooooe0 — 0.004129
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Exponents Exercise 2C

Q1

Answer :

(c)

Q2

Answer :

(@) &

gyt 11 11
=3) (9 (0%E @
Q3

Answer :

(b) 5

Q4

Q6

Answer:

(c) 29
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Q7

Answer :

() 35

Answer :

(d)3

(&) = (3)" -

Answer :

(d)2

(23= 1+10)+7=6

(2™ '410) @
= 7 =1

On cross multiplying :
[ 1+1n) x1=6x7=42

= 2% =42 10
=231 = 32

= 231 = 95
=3x-1=5
=3x=6
Therefore, x = 2
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Q11

Answer:

(c)1
0
Using the law of exponents (%) =1:

(%)u=1

Q12

Answer:

Q13

Q15

Answer :

(c) 3.67 x 10°

3670000 — 367 x 10* — 3.67 x 100 x 10* — 2.67 x 102 x 10* — 3.67 x 10@+4) — 3,67
x 100

Q16

Answer :

(b) 4.63 x 10~°

0.0000463:%:%:4.63x 107 —4.63%x 105

Q17
Answer :

(a) 3.67

0.000367 x 10* = 3T x 10* =367 x 1046 — 367 x 1072 = 3T _ 37 _ 3 67
10 10 100

Downloaded from www.studiestoday.com



	Chapter 2 Exponents  a.pdf (p.1-4)
	Chapter 2 Exponents  b.pdf (p.5-6)
	Chapter 2 Exponents  c.pdf (p.7-9)

